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Algebra 1 Common Core.

Practice Test Unit 1+ Unit 2: Polynomials, Equations and Inequalities.

You must show all work for complete credits. The test will be for a full block and it will cover unit 1 and unit 2.
There will be test corrections but you will only receive 5 points back and only if the STUDY GUIDE

PORTFOLIO is done. =
1) Express the following as a trinomial. \ ;< 4 \\
(e + 172 RS
2
2) Find the sum of Wﬂd 7% @))\:6/(
71
1. 7x+6x + 12 2%\
2. 3xt+6x+12
3. 3x?-12
(4) =32+ 12
3) James is given a rectangular piece of paper. If the length is
represented by (2x — 1) and the width is represented by 2 x=)
(3x + 4), then the paper has a total area represented by: EX +4
1. 5x*+9x—4 —_—
2. 5x+3 ( 2x- \)@j%
10x + 6 -2 ,
4) 6x2+5x—4 4><+3’</X 6 X SH -4
4) "The paper has a total perimeter equals to Zﬁ)_(, _3)4_@/4_ 2 x@}-\-— ﬁ@
1. 52+ 9x—4 10X (o
2. 5x+3
B) 10x+6
4. 6x2+5x—4
5) IfA=4x*+5x-1and B=-2x* - 3x + 7, then 4 - B equals (“H( L5x—t) - (—Zx - x+7
)+ 2X 2"
1. -6x*-8x+8 W,f@ﬂ)
6x+8x - 8 (xFHEX =¥
. -6x2-2x+6
4. 6x°-2x+6
6) What is the product of 3x* y?and 2x)>? /2 )&f:j 2y (2x' %3)
T <
6 X
A\, VoV
7) Simplify x2 + 3(x- 4) — x(x- 1) + 2x
3¥-12 =X +X

AT
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8) Which expression represents "8 less than the product of 2 and

l"?
x" ZX — S/
1. 2(-8) (37 2x-8
2. 2+x-8 4. 8-2x
9) Which of the following values is in the solution set of
-5<x<7?
M
19 3, -5 - 7
10) An expression of the fifth degree is written with a leading e
coefficient of six and a constant of seven. Which expression is A X +7

correctly written for these conditions?

@6x5+x4+7 3. Ixb—6x*+5
. 6x=x>+5 4. 7x5+ 22+ 6

11) The value of y in the<guatieq N\, W
2(0.03y + 100) = 5(0.006y + 70)

= !
0.02Y '*___S:C.’.
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2 i’s.ggaj —0:03y 093y

12) Natasha is planning a school celebration and wants to have
live music and food for everyone who attends. She has found
a band that will charge her $750 and a caterer who will
provide snacks and drinks for $2.25 per person. If her goal is
to keep the cost at most $ 1200. Write an appropriate
inequality to find the number of students she can have.

750 + 225X £ (200

13) x + y =y + x is an example of the which property

1. Associative 2. Distributive
@ommutative 4. Multiplicative property of equality

Su+ N ov dus g

Jerms

14)The expression (-2x*7)? is equivalent to

Q\;),xgy6 3. -4x%®
2

. 2x88 4. -4x%°

(~x'y?) (2 x'y>)
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15) Solve for x and provide the number property that is
xX+8\»x

appropriate in each step. “‘l“g“ 5

S—CY+5/> - 1§ X
+40 =15X
75 _sx
“Ho = loX
To 13

& X




22) Marcus has quarter, dimes and nickels in his change jar. He
has seven more dimes than quarters, and-twice as many
nickels as quarters. If he has $2.95, how many of each coin
does he have?

Qg)(_\_\o/?:]D() +5-(2-70 = 28¢”

26 x £ To4 16X + [0X =225
(o < Zﬂg
<+ xij?% ——
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24) The distance a free falling object has traveled can be modeled
1

by the equation d = 2 ar?, where a is acceleration due to
gravity and ¢ is the amount of time the object has fallen.
What is ¢ in terms of a and d?

¢=J§ «= 2
1. 2 a

2
i= (.df.)
2. d

() d = s
2d- ot
a a
2d - |-
2 -Ji

25) The sum of the ages of the three Band brothers is 63. If their
ages can be represents as consecutive integers, what is the
age of the Older brother?

(5t X (O 1 kKH2 =63

¢ xr2 2x - 60
> 3
10,2\ 7% X z20
- 26) Graph the following inequalities; .
2 <y< 4 . & ab) .
-2 4
lsx<$ « o9 .
J S
x23orx <-l &—0 ( — .




16)Ifabx;5g=8,§whatisxintermsofaandb? abx:g_
5 5 ab ab
X = — X = =
ab 3. ab 2
%)
2. x=5-—ab 4 x=ab->5
15) Which graph represents the solution set of 2x — 5 <3?
L5 &S 2XL T
2 2
@ 5 4-3-2-1 01 2 3 4 5
& fem—p— ; 9 y\L’Lﬂ\
2. -4 -3-2-1 01 2 3 4 5
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16) A soda container holds 5% gallons of soda. How many ounces
of soda does this container hold?

1 quart = 32 ounces

144 176 1 gallon = 4 quarts

2. 640 (“) 704

s 3% ( LrQwﬁ;
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17) Which of the followmg values of x satisfies —x +5= 19;‘7
g -

I x=16 3. x=36 2y =14 (2
@x=21 4. x=% A=
20) Solve & graph for x:
4<-2x+6<12
—b -6 -
-2 L-2%L6
L T 2
1LSXS3
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21) Solve the compound iflequality algebraically and graph the
solution set on the number line.

R
S(x+7)<15 or
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